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QUESTION 1

What is the effect the Clear State on Close setting in the Object Map interface when you exit the object map? 

A. All new test objects will be accepted by removing the "New" designation from the test object. 

B. All new test objects will be accepted by changing the New designation to Accepted for the test object. 

C. All unused test objects will be removed from the map. 

D. All test objects that have not been accepted will continue to have a designation of "New." 

Correct Answer: A 

 

QUESTION 2

Given the following settings: 

Maximum acceptable recognition score 10000 Last chance recognition score 20000 Warn if accepted score is greater
than 10000 Maximum time to attempt to find Test Object 20 

How will RFT behave at runtime if the recognition score of a found object is 10000? 

A. It will accept the found object after waiting for 20 seconds for an object with better recognition and write an
Ambiguous Recognition Warning to the log. 

B. It will accept the found object after waiting for 20 seconds for an object with better recognition and write nothing to the
log. 

C. It will accept the found object immediately and write an Ambiguous Recognition Warning to the log. 

D. It will accept the found object immediately and write nothing to the log. 

E. It will immediately throw an ObjectNotFoundException and write an Ambiguous Recognition Failure to the log. 

F. It will throw an ObjectNotFoundException after waiting for 20 seconds for an object with better recognition and write
an Ambiguous Recognition Failure to the log. 

Correct Answer: D 

 

QUESTION 3

The two phases of playing back a script are script development and _____. 

A. unit testing 

B. manual verification 

C. reviewing results 

D. regression testing 
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Correct Answer: D 

 

QUESTION 4

What is the minimum weight that can be assigned to a recognition property? 

A. no value (leave blank) 

B. 0 

C. 1 

D. 10 

E. 100 

Correct Answer: B 

 

QUESTION 5

Given the following code snippet in which Customers() represents an HTML table from which data needs to be
extracted: 

Customers().getTestData("contents"); 

What data type is returned by getTestData("contents")? 

A. ITestDataTable 

B. String 

C. TableData 

D. TestData 

Correct Answer: A 
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